Ab Ay = _— hJ ;|= 4 — —
20218EBFZS EBERmAE [ g - 0646641045
< AFRERE>14:00~20:00
1 = >4 B JH
AREL/ BED| @ FEREGES BRI B BHT-Y DR &5 A
R g : ~ c o o 604 %t 604
AEL/5GAE A 7K 17:00 19:00 [ 1204 |E 1209 5 4
| |36B|AKR 17:00 ~ 19:00 6B%f 0%
5G11/| 38 £ 17:00 ~ 19:00
IN| &7 /5G2% 4 K 17:00 ~ 19:00|% 1205} E 1205}
| [36B[AR 17:00 ~ 19:00 AR5fE 0%
5 5G12| 38
AE] /45 BED| B FEREGES EERB - BHT-Y DR &8
S0/ R EES 4H x 705
Frax/ INFREERE | |368|+ 1410 ~ 15:20 B4R 10
5E11] 3A
1] 4 = S e
AE] /S BED| B FEEETGES EER - BdHi-Y DR &8
)\ . ~ . 4\ 4\ 4N\ Z\
A Fl/6GAF 4F ‘ X 17:00 19:00 | & 12049 E 12049 |3 609t 60%
| [36B[AR 17:00 ~ 19:00 6BFfE 07
6G11]| 38 £ 17:00 ~ 19:00
I ] ’ 48 N 17:00 ~ 19:00(Z 1209 |E 1209
J AFl/6G2H | |36E|A 17:00 ~ 19:00 ARERE 0%
6 6G12| 38
AF/ B @ FEREGES 1eER - B T-Y DR &5t A&
= E = 4R x 705
3 I\ ZhS X
Frax/ NP REERE | 36|+ 13:35 ~ 14:45 185R 109
6E11| 3A
A = 2
AE/45EE B @ FEREGES REEE - BHT-Y DR &5t A&
e T 45 K 19:20 ~ 21:30|3& 8047 % 8047 |3 404 |#t 407
|:|:l AR/ BRI ERZERA | 36|42 19:20 ~ 21:30 ABERSY 0%
7JA11| 38
1
AE/ B @ FEREGES EBR - B T-Y DR &5t A&
E|SEIE A7 S 4R & 7057
Frax/ Rt E | | 368+ 19:20 ~ 20:00 18578 109
7KK1| 38
A = 2
AE/45EE B @ FEREGES REEE - BHT-Y DR &5t A&
s 48 N 19:20 ~ 21:30|3& 804 |% 804 3E 404 %t 404
|:|:l AR/ DIBIRZIRA | |368|A 19:20 ~ 21:30 ABERY 0%
8A11| 3R
2
AF/ B @ FEREGES eBR - B T-Y DR &5t A&
E|SEIE A7 S 4A ®E 7053
Frax/ Rt E | |36 |£€ 19:20 ~ 20:00 18RS 109
8KK1| 3A
A = 2
AE/45EE B @ FEREGES RERE - BHT-Y DR &t A&
g 4H N19:220 ~ 21:30(3E 1209 E 404 ¥ 407 4t 409
AR/ DIBIRZIRA | 368K 19:20 ~ 21:30|%k 1209 6BFf 0%
9A11]| 38 + 1920 ~ 21:30
| [#E &mboisZRiloRREREORAAS BEEOEEAHET,
3
AEL /45 B @ GRS EEERE - BHT-Y DR &5 A
n = 1 7 Tt 9A # 509|E 509 1B 5049 % 50%H
/M EERARREEE | | 08|+ 1430 ~ 10:00|% 509 ABSFS 104
9KK1| 38




